Algebra I – Bellwork #31 (PSAT Practice)		Date: __________
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(P =3y% +59%) - (=xy + 397 - 3%
Which of the following is equivalent to the
expression above?

A) 2x2y + ny2
B) 8xy2 - 6y2
C) 2x2y + Sxy2 - 6y2

D) x4y2 + 9ch4 - 15xy2
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21x+14=7(3x+a)

In the equation above, a is a constant. For what
value of a does the equation have an infinite number
of solutions?
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Which of the following describes the solution to the
equation above?

A) x=0
1
B) x=10—
2
C) The equation has infinitely many solutions.

D) The equation has no solutions.




